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SECTION-A
CHEMISTRY
(Marks — 26)

Answer Question Nos. 1 to 4 in a sentence, a word or a phrase each.

Now-a-days antioxidants are widely used in dietory supplements for the
prevention of diseases, as preservativés in food and in cosmetics. What is
the chemical nature of these antioxidants ? T
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SRHTTHRH Wﬁ%ﬁﬁwﬁreﬁwwwﬁﬁm ?

2. A piece Qf‘mgtayl_ when imme‘rsed-in aqueous copper sulphate solution

dischargés the bl'Uelqulouvr‘of the solution. Predict the positioh of the metal
relative to copper in the activity series of metals. _ 1
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Give the name of the compound formed by the reaction of propene with

bromine water. ;

cafra e guremar @iimen Rowast cogmeet s A Wk 2y |
Mention a place in Manipur where brine well is available. 1

1T TR Lo WG T i) we 5y |
Answer Question Nos. 5 to 8 in about 30 words each.

Sodium atom loses an electron to form sodium ion. Identify the compound
formed by sodium ion with another ion having the same number of
electrons. Predict the solubility of the compound. 2

(AT GIan B

| UG S TR TR SRR o || G i S

W12 o1 T WG TSR BT W “TEN T PSR S PRCA 2 o
TP WS T TR |

Burning of magnesium metal cannot be extinguished by carbon dioxide’
Give reason.

2
CATRT T Slnetf ey RS Yo T | WaY g 1
Draw a neat diagram of NaCl crystal and label the ions, 2

NaCl f&tgeil o et Y20 o1 ool Srzgaies ufie 2ma |

Why electrolysis of aqueous sodium chioride is carried out in specially
designed electrolytic cells ? What happens when the gas liberated at the
anode is passed through calcium hydroxide solution ? 2
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Answer Question Nos. 9 to 11 in about 50 words each.

Atoms of the elements A,B,C and D have 3,11, 17 and 20 proton:
respectively in their nuclei. ldentify —

(i) elements thatbelong to the same group
(i) elements thatbelong to the same period

(i) heaviestatom amongstthem

A B.C e D ziwal SRarsie arhmiis fsEmiRic carhia wieie 3,11,17 wip
20 AR TG | D WIS —

(i) =eei o e fREaT RECEHie

(i) cofzram v mefmar Ffearni |

(i) A Sege QIO o= GUo™

What is the difference between an ore and a mineral ? Discuss th;
electrolytic refining of copper.

@1 T RAEe STl (Y IR 7 FEACGETRDS R (Rt CRTey
A OIS | :

What is the functional group in alcohols ? What happens wljuen ethénol is
treated with ethanoic acid in the presence of sulphuric acid 7 Write the

3
reaction.

TR G TG 257 Y RG] 7 Il S R 3 el e
@fSrs Tiewel Rasm cAReerit SR weof | Raem oy 2 |
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Answer Question No. 12 in about 100 wordls
magnetic fiold 7 ‘.
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\" |

Dilute hydrochloric acid reacts with a metal carbonate to ovolve a gas
When the gas is passed through sodium hydroxide solution a salt "B
formed. Identify “A” and “B”. What is the name of the reaction betwe
“A” and sodium hydroxide ? Write the hydrolysis reaction of salt "B” a
predict the pH range of the salt solution.

LR LR | I T R A S b L T Bl s b o
gizwall il 7 :

’,Why are the household electrical devices connected in parallel to the
mains ? Give one reason e ' 1
IRE AU afrenr ber FCACAs wail fdaae cBlaen A" amal el oy
RS, | AT SO CTIEN QRCEHRS Gilepral Aifemql B arar e e m
“A” I B B e e | AT a1t o siacuraniBva canfdar faaee o
= wfile (Fear 7 G5 “B 1 2c@ie@iet el fdaseg By wias oflepryiil pH B

st lfersar Bl #tafie af SRR ool cAtaEeT =R 9 Tq o
Ay | :

Answer Question Nos. 17 to 20 in about 30 words each.

T | State four ehdracteristics of a good fuel. B 2
SECTION -B f '
SR AL S Xl ege Nfwe T |
PHYSICS : . ,
Anobject 3 cm high is placed at a distance of 20 cmin front of a concave
(Marks — 26) mirror of radius of curvature 50 cm. Find the position and size of the image

formed. ; : 2
Answer Question Nos. 13 to 16 in a word / a sentence each.
3 cm @1t ¢t St 50 cm (AiEsT @ Faresd @3a1 et figes swwat 20 cm

arefeTl lew! 2NCe | ST CoTes SRpR SICBIAT 2ITEG |

An object is held in front of a plane mirror and its image is seen. If t

mirror is moved 20 cm towards the object, how far will its image move ? - _
Name a source of energy often used for production of electricity and which

is also environment fnendly Why is it taken to be environment fnendly 2

mﬁrﬁchmm%ﬂ%mm WW%W@W
Wmm&r%—mﬂtﬂ%o‘nﬁwmﬁmaﬁm?

0. What produces an electrlc current in a circuit ? How is it reahsed fo s

CATRTRS ST *RBCS FECeTT STNaT STmemT ANTS S{EoR WAt Wfaly SC 1 et oy cofie
s 20 cm SeEseraft Wiy A Wl el ?

A small magnetic compass needle is held close above a straight horizon
wire carrying a current towards the south. How the N-pole will deflect ?

AT (RO iy et ST Copell T NIRRT 2R SR #[d1 5o

Qi3 SwE NAST A et 2 WA N-pole S S CATEEel 7 STogRD S SR LRGP PO (IR 7 g A I T T 2
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Answer Question Nos. 21 to 23 in about 50 words each.

Draw sketches to show the magnetic lines of force produced by (a) a bar
magnet and (b) a current carrying solenoid. State one point of similarity
between the two. 3

(a) ara (w9t e (b) FCIY R CTEIAISS SR (12 241 (NECALD 51(%9) aap
G BT TG I YRTBRNR (FR | SN Fere WERS qewte Wy T |

Describe the nature, cause and method of correction of hypermetropia. 3
ZEASCICIRIAT Wt (AR T SRR G, N TS |

An electric bulb is rated 220V : 100 W. The bulb is used at 110 V. Find the
power so consumed. 3

20Afg a2 w220V 1 100 W =iz 1 = wifit 110 V o S | T w1 1
ALAFS | '

Answer Question No. 24 in about 100 words.

Give the precautions to be taken in handling electrical circuits to avoid the
hazards of electricity. (Give five different points) 5

UHGS TESTHR AR AR (S G JoneRafie T et
(o (RN 2T 1 (Cama W el Ay )

SECTION-C
BIOLOGY
(Marks — 28)
Answer Question Nos. 25 to 28 in one sentence each.
What is phenotype ? 1

FIGTR Tty S 9
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26. - Which should have been the home of first life on earth ?
RN A% A6 Corew #fifwt Sl gwafy 2

27. Why clones have same genetic composition ? 1
GRIRIIET #fTf- =357 G%aT oI 571 NI AN SR 2

28. How can we check further depletion of ozone layer ? 1
OO SN QT TGN FEN LGFATN [T GTmrwst 7

Answer Question Nos. 29 to 33 in about 30 words each.

29. Name four products that can be obtained during distillation of crude oil
(petroleum) 2
BLCAIRGRT A1S(CoTaferma) ifetame coimt el CAICaIs NReE SEs |

30. Define fourtrophic levels. 2
AR (oSt SR AT B | .

31. MIf the tails of a group of mice are surgically removed, the offsprings of
those tailless mice will have tails.” Justify the statement. 2
<ol Bfb Treaer A WA FFALT], W TS SR Wi Woife Wy W
TG (AT’ | IRFNOT B Z-AT 2 (I |

32. “Rajasthan faces acute water scarcity.” Suggest two remedial measures
which can be taken up by the people of the State. 2
‘AT R FRA SR (T SRR (PREZAAT S SRRl ARt
TR #(1CF S ARG |

33. Draw a diagram of an epigeal germination and label Hypocotyl and
Cotyledon. 2
A=A TG TCSH CBISAT *S Sl (Feiall (PIGCECni S RIRCAIIoiZe
FAIGCAT TG |
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Answer Question Nos. 34 to 36 in aboul L0 words each,

Name the organs involve in excretory system of human being.

Tiazes wstirnia Bregs v ity whie % |

How does monohybrid cross differ from dihybrid cross 7 Explain
giving phenotypic and genotypic ratios. '

IR (TR WA T <Pl cAEAcst ? leaibrafee wEpp fe
afie AH! ST O |

“Forest act as a regulator of hydrological cycle”. Explaininthree points.
¢ SR B Bt WRZA | AR S Al MUl 91D |
Answer Question No. 37 in about 100 words.

Explain five functions of hormones in human being.

Rs22 T ZeobeH] CIRTHIAMREAT (BT SO I A0 Xl Eoll
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